






11068(C7.3)

10109 10109

10222 10222

10226
10226

10111
10111

RH5102(M3)

RH5102(M3)

10105

10105

10106

10237(E2.5)

10103(GP)
10333(EP)

400#

400#

10107

10224
10224

10110 10110

10110
10110

10111 10111

10214 10214

10315

10321

10310
10330

10316

10247(M3*8)

10247(M3*8)

10247(M3*8)

10240(M3*8)

10240(M3*8)

10240(M3*8)

10247(M3*8)

10247(M3*8)

10247(M3*8)

10247(M3*8) 10159

10159
10216

10216

10220

10248(M3*12)

10248(M3*12)

10248(M3*12)

10248(M3*12)

10215

10154

10154

10135

10135

10135

10136

10156

10223(10*5*4)

10223(10*5*4)

10157

10143

10137

10247(M3*8)

10001(GP)
10007(EP)

10002(GP)
10008(EP)

18
mm

13mm

10220

10108

10104(GP)
10334(EP)

10106

10220

(Dia.3-1) (Dia. 3-2)

(Dia.3-3)

Page 3 of 21















H0028(Brushless)

H0029(Brushed)

10247(M3*8)

10241(M3*10)

10247
(M3*8)

85184(M3*12)

10241(M3*10)

10248(M3*12)

10248(M3*12)

10249(M3*14)

10249(M3*14)

10247(M3*8)

10247(M3*8)

10240(M3*8)

H0050(SPIRIT EBD)

(Dia.10-3) (Dia.10-5)

H0026(SPIRIT EBL)

10323(23T)

10135

10137

10247(M3*8)

10247(M3*8)

10247(M3*8)

10716

85034

10153(8*5*2.5)

10216

11068(C7.3)

10153

10135

10136

10221

10240(M3*8)

85034

85034

10195P

10326

T10024/T10025

10189

10188

10185

10188

10185

10146

10327

10315

10310

10319

10330

10325

SPIRIT EBD and SPIRIT EBL are converted from SPIRIT N1,having same front assembly. Please refer to Dia.2-1.

And the rear assmbly is all same as SPIRIT N1 but without 

center outdrive cup(see Dia. 7-2)

Attention: SPIRIT EBD and SPIRIT EBL are only different in ESC,

motor battery,charger and radio.

(Dia.7-1)



















11068-C clip-7.3mm 4pc RH5190-E clip-4mm  6pc 10237-E clip-2.5mm  6pc RH5102-Nylon Lock Nut M3  6pc

RH5103-Nylon Lock Nut-M4  6pc 85148-Round Head Self Tapping

      Hex Screw 2*6 4pcs

10238-Round Head Self Tapping

      Hex Screw 2*10 6pc

85179-Round Head Self Tapping

      Hex Screw 3*15 8pc

10239-Round Head Self Tapping 

      Hex Screw M3*6 6pc

10240-Button Head Hex Screw

      M3*8 6pc

10241-Button Head Hex Screw 

      M3*10 6pc

10242-Button Head Hex Screw 

      M3*14 6pc

RH5116-Set Screw M3*3 6pc RH5117-Set Screw M4*4 6pc

RH5118-Button Head Hex Screw

       M4*10 6pc

RH5562-Cap Head Hex Screw M3*8 6pc

10244-Cap Head Hex Screw

      M3*14 6pc

85118-Cap Head Hex Screw M3*15 6pc 10245-Cap Head Hex Screw 

      M3*18 6pc

85185-Cap Head Hex Screw M3*25 6pc

10243-Cap Head Hex Screw 

      M3*10 6pc

85182-Cap Head Hex Screw M3*10 6pc

85144-Ring Self Tapping Screw 3*4 4pc

10256-Ring Self Tapping Screw 3*6 6pc

85184-Button Head Hex Screw 

      M3*12 6pc

Part List

Page 19 of 21






